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Answer Five Questions onlY
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Calculators are allowed.

1. rl6iirerL6rb a"$Euei;oefi aflu-rn g6b6Dgl r-lorpuLn ereur6a-Eta. Llloorp oofleir oflulno

glp6D6ur 6r(Ugl5. (State whether the following Statements are True or False. If false,

conect it).

i. x oeiruSt p 6r6iirp @eo)ruleoteur e 6DLul @(D oqgLon$Eu LDrd aroflair

var(X) oehuSr ouGlunqgari Ggiqno @oei;torn (If X is a random variable

with mean ,pt,var(X) is always positive )

ii. gc uqLbuouneorSr d*,itt olt.r6D6D or6D5l u6o$$Sg GloneoiirqqS6gLonu5lair

lruufLiruel Gpit @[rurlDr6drgJ q1qlb (A longer tail to right means

distribution is positively skewed).

iii. A LDpUtri B ereirp 6o so$efloen pLbcpen qgr$&(5ereoreuno @qbudl6iil, A
g}reireuA B $lop+dlodr $operp$oneur $o$gaq P(A)P(B) sJ€'tb' (If
two events e anJ B are mutually exclusive, the probability of occurrence of

either A or B is given bV P(A)P(B))

iv. r5$Gleeuq Gon@ 6115 erqgCIn$Eu Lon$luilon- Su$porur @ooL-ujlair

pL-poorpuloror oilufltbdlairpgl. (Regression line describes conditional mean

behaviour of a random variable)

v. ol6o)6Du-.1(D6ueotryulr-b(6olporrootqulLo) ererhugJ e(D 56D|I6D5 oleolqurLb q@6'
(Histogram is a bar chart)

vi. gluLo or(U ooiirug,t @(D l-l6n6rfloiluq$$6iir d-Dpsq uqLbualair Lonperlair

',6nCII6 
qg6. ittre- siandard error is a measure of the variability of a

probability distribution of a statistic)

vii. Lonpob qSoouro6 oreirug,t GeuEuuL-L- pr64 GlpneolL-o,CI'd;dlaolL-ullounom Dnp60)6\)

gnrl6eupf6 GlunqSppLonorgl. (The Coefficient of variation is appropriate

fot 
"o*puting 

the variability within different data sets)'

viii. 6)u-l,o erSleoooit dlrlLo 6u(u oeiueor LDrp50l6D generi$elpfrg

uuleiruggguugdleirpom. (Standard deviation and standard error are used to

measure variabilitY)
i*. etU @tgulr60T$,t tr(}ulut-.| uryDueo-roo G)aneoiirg6d;gLonomoi: Lon$flujait

6eu,r-ujla;r uqrileonorg,l Gla6iror6urno uqLbLlulgebs(pl9u-.llD. (If population is

Linomial, distribution of the sample mean could be a normal)
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x. dorDpoq GuEr-opirreors,r 9o',T .ft ?d?:":^ @6utl6.ir Frtb 66ifiur

olqsrGonoren 'i;'i''1'1-" tp'ouuliliti";G is greater than 0'05 we can

;.1 *t the null h1'Pothesis)

r5oireuq6lb $orlpoau uqbueo-roo 5(Egl5' (Consider the following probability

2. a.

distribution')

K O6urg,t GruELo$u51oo-reot sneorfio

11.

111.

d$L-L- @L-$$eoro dtr''"1* (Fill the blanks)

$$p uqbueoreu

6lr6oq5. (Draw

iv. P(2<x<5) aairuPeolo oneorhs'

oril en 66er po,o 
. 
6 

Tfi:$g,? rfJh8,ot ff"""t : 1vertical line graph to tllustrate LrIe Lurrrrv*"^"igO 
marks)

(03 marks)

(10 marks)

(03 marks)

3.a. Jan 3, 2005- Feb 28' 2017 aneuuulSplU9l:-e-rt'roorauSleir 
qbun6fls@'b 6O

rnneoorurniraoflo.,b tuiD. AuD) 
^eoruuJreonein 

EnT*pg 
- 
pn*rr^-'np*r efiomroofleit

-urLbuoir L'leirerq5r-b ;#;t;'dJ' e0""65ffi; 
-q'ftqtn''q- erene'r.oeocn uurairu@$$l

el6lpdl6iir prg*pul-*--r{-**,g* ff;;l-bilion' of -t# aiify 
"*tnange'rates(UsD'

AUD) of Sri Lankan rupee f.or the n"ri;i:i;""I'iOos- Ft;t81 2017 are-shown in the

fotlowing Figure. Compare the two ."#*;* utft""f"t;tid statisticflrfrf;fi:;)

2

L" P(*)=L*P(*)=lr1*1= --



b. rSoirel6$ poeuobaeo'r6n uul6iiru@$$ @eoruoauJleir Fn6iiT(O pnouru-rr'ons0rofgruoofloit

uqbuo5lair rSqpnoor ueorirqaeoteir orilanti;1oo. ( Describe the main features of the exchange

rates distributions of Sri Lankan rupee using the following information)

(10 marks)

- 
RSAUD +-* RSUSD

RSEURO
154.4882
1 57.1 500
181 .8600
1 18.9000
15.24162

-0.572581
2.652173

175.1681
0.000000

2935

Mean
Median
Maximum
Minimum
Std. Dev.

Skewness
Kurtosis

Jarque-Bera
Probability

Observations

RSAUD
103.1014
103.7150
139.7100
65.40500
17.68906

-0.057091
2.148525

90.25703
0.000000

2935

RSGBP
1 96.1 800
1 95.1 650
233.1 050
155.4450
17.04214

-0.01361 1

1 .894150

149.6417
0.000000

2935

RSUSD
1 19.7330
114.2350
152.2650
98.20500
14j7200
0.484447
2.070580

220.4404
0.000000

2935



4. X LoSElb Y Longloerflair urL-$ doDpoq uryr-buoil rlcrirelqqLb €IL-ro'loolouruJleil

eru']6-A"ftpg, ifn" joint probability distribution of X and Y is shown in the

following Table.

X toSgilb Y oeihuerr$Seir erobeareu uqr-bueboeo6n on6udlo'

iFind-m-arginal distribution of X and Y' (5 marks)

ii. E(X)andV(Y).erairuer$orpd;aneofia' (5 marks)

(Are X and Y indePendent? )
(5 marks)
(5 marks)

111.

lV.

X, Y eyahueu sryrlp6urolff

f(Y1lX2).oneofia

5.

b.

a. rJlerirelqSub uprrirooflogOps dn erlennr1qelgl ulngl? (What do you mean by

the following terms ?)

i. Gluulob GPPP,b (BaYes'theorem)

ii. $lu$peureur d*Dp*q (Conditional probability)
(6 marks)

@6 Glpnglganeorouu5leb epairur- @uj$gtryruo6n^ (Ml, M2, JU3)
deiir1ql6lpo6D6tr t-OteO b"*UrAt[*"'OEp GtLon$p o-$u$$u5]oir

OrOdfft"6ir(M1, triZ,'it'f; 1go$rpGu 25, 35, 40 upofip e-Sup$uleox1t

7A;eA era.m#gr.t. s.[6at.G)Lonpp luu$dullob greopGur s' 
^4.

2 dlp -0r5d;; i'@-p-tttOo 
'*-n*t'utt*' 

-@@. 
dl6dr. ItitD

"qgrn-po- 
ItObbuuiO erei uqgpooL-$pq 

"T-^@emrdronouruuLlol'
uqgpeoL-gpp Gtun196n Ou$drAo6'ir, Ml, M2, M3 ggeb e-pupd

Gtsulutuul_rg6uup$Lneur doDpaqooo)6fr sn6ilira. (In a factory, three

machines,( ltn, {fr' M3 ) manufacture 25, 35 and 40 percent of the total

production of Bulbs respectively. of their total output 5,4, and 2 percent

are defective respectiveiy. A UutU is selected randomly and is found to be

defective. What are the probabilities that the defective was manufactured

by the machines Ml, M2 and M3?)
(14marks)



Llcirergrb upriroenneb $fr erlorr,r66xgJ urgd (What do you mean by the

following terms?. )
i Lon$flGtur@uL1 or119 ( Sampling error )
ii. eil6n6fl-G ouqg (Measurement error )

(8 marks)

@(D F6i)60 erileurn Glanp6l6,ir adglurlulobt-1oen ulneo)el ?(What are the qualities

Jr-u fooa questionnairbz. ) (6 marks)

c. rJeiral6orororp6Dp Gc'ilglluG$eilo. (Differentiate the following)

i.tfpput, gilorup pfeUti, 6[euiirL-nrir d-tuppfqrb (Primary dataand

rJlqpnar oeir €Stuo.l6 (The pilot survey and

(6 marks)

secondary data.)

ii. gaeinGonrq ocn qulqlb
Main survey).

7. rSoireu6euooreupdl$tO dlUr 15duq 6r(UgJ5. (Write short-notes for the following)

i.E6Dflur*(DgilC*n€Dr-buoir$E6o66GonqgrLb(Nullhypothesisand
alternative hypothe sis)

q6r6rfl Lodtur-lGLl egu5lorL- ro$uL1rb (Point estimator and interval

estimator)
ooflu oqgLon$E Lon$lflGlu@ull (Simple Random sampling)

anirlt LdqpOt,i, 6l*rDpoqr-b (Relative frequency and probability)
(5 marks each)


